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YEAR 11 MATHEMATICS
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25% Assessment Task
TOTAL MARKS : 41

INSTRUCTIONS:

* Time allowed: 50 minutes.

* Approved calculators may be used.

* Start each guestion on a new page.

* All necessary working must be shown.

* Marks will not be awarded for caréless or badly arranged Work.

Outcomes Being Assessed,

P3

P4

P35

» performs routine arithmetic and algebraic manipulation involving surds, simple
rational expressions and trigonometric identities

e chooses and applies appropriate arithmetic, algebraic, graphical, trigonometric and
geometric technigques :

« understands the concept of a function and the relationship between a furction and
its graph

Name:

UESTION 1 (12 Marks)

a) In triangle ABC, AB =8cm, BC =7cm and CA=5cm.

c
A ‘ B
) Show that LCAB = 60°. 21
H)  Hence find the gxact drea of triangle ABC . [2]

b) A ship leaves Port P and sails on a bearing of 040° for 320 nautical miles to teach
point A. It then sails on a bearing of 150° for 510 nautical miles to reach point B.

i) Draw a diagram to clearly represetit all the given information.

if) Find the distance between the point B and Port P. Give your answer in
nautical miles correct to 1 decimal place.

i)  Use your answer from part if) to find the bearing of B from P. Give your
answer correct to the nearest degree.

151
A
c) . : 50°
B x D
20°
4
¥y
c
i) Use the given diagram to show that x = 8sin50°. 1]
i)  Hence show that sin y = 25in20° sin50° and find the value of y correct to
the nearest minute, 121
2




Name:
QUESTION 2 (8 Marks) START A NEW PAGE
a) Find the exact value of tan30° + sec300° 2]
b) If sinx = % and 90° < x <180°, find the exact value of cotix. 2]
) Solve 2cosx+1=0 for 0° < x<360° 121
, _gin? iy @
d)  Provethat cotd +2secl = M A [21
sinédcosé
QUESTION 3 (14 Marks) START A NEW PAGE
2) 1) Sketch the curve y =2x* —9x-35 by first finding where the curve
crosses the co-ordinate axes.
)  Find the equation of the axis of symmetry of the curve y = 2x” ~9x—5.
i)  Hence, or otherwise; find the co-ordinate of the turning point.
4]
b) Find the values of & for which the expression o+ (k +3)x +4 is positive
definite. Bxplain why there are no values of k& for which the expression is
negative definite. E]]
c) Find the vatues of 4, Band C for which
2% =3x+5=A(x-D(x~2)+Bx-D+C 2]

D

QUESTION 4 (7 Marks)

a)

b)

°)

Narne:

If ¢and B arethe roots of 2x* —6x+8 =0 find the value of

i) o+

if) o

1 1

if) e +F I3
Solve x* +8x* -9=0 12

START A NEW PAGE

Write the equation of the locus of a point P (x, ) that thoves so that its distance
from the point (0,3) is equal to its distance from the line y=-3,
1]

i Write the equation 8y = x* — 4x—28 in the form (x— k) = 4a(y - k).

i) Hence, wiite down the co-drdinates of the focus of this parabola.

131

Sketch the parabola y* = —8(x - 2) . Clearly draw and label the focus, directrix
and vertex on your diagram.

13

END OF PAPER




Queshion 2 (10 mMexks)
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:B0EShON 3 (14 Morks )
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